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1 O O 1. Comparing with the bike[d the car runs much faster. 2.
The climate in Walton is colder than other cities.[] [0 [ [0 [J 1.
Compared with the bikeld the car runs much faster. 2. The climate
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O 00010 In 1998 we produced as many cars as we did in the
previous five years. 21 We have accomplished as much in the past
three years as would have taken ten years in the past. 2. 0 [ [0 10
Children now enjoy better medical treatment than before. 2[1 We
can live longer without food than we can [ live TJ without water. 3.
[ O O 10 This is the most interesting book Ive ever read. 2[1 Of all
his novels I like this one best. 4. the moreld the morelJ (I [ 100 The
harder you work[] the greater progress you will make. 20 The



more a man knows[] the more he discovers his ignorance. 5. [1 [
(1 00 100 | prefer staying at home to going out. 2[1 They prefer to
work rather than [J tol] sitidly. 31 He prefers to work alone.[] [
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absolute while stagnation is relative. 2[1 He is tired out[d whereas
she is full of vigour.J 0O O while [0 whereasU 0 U OO O 0O 0O O O
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